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1
In the diagram of [image: image1.png]MABC



 and [image: image2.png]MNDER



 below, [image: image3.png]


, [image: image4.png]


, and [image: image5.png]


.

[image: image6.png]



Which method can be used to prove [image: image7.png]MABC = ADEF



?

	1)
	SSS

	2)
	SAS

	3)
	ASA

	4)
	HL



2
As shown in the diagram below, [image: image8.png]AC



 bisects [image: image9.png]ZBAD



 and [image: image10.png]


.

[image: image11.png]



Which method could be used to prove [image: image12.png]MNABC = AADC



?

	1)
	SSS

	2)
	AAA

	3)
	SAS

	4)
	AAS



3
In the diagram below of [image: image13.png]MNDAR



 and [image: image14.png]ABCE



, [image: image15.png]AB



 and [image: image16.png]oD



 intersect at E, such that [image: image17.png]


 and [image: image18.png]L BOR = ZDAR



.

[image: image19.png]



Triangle DAE can be proved congruent to triangle BCE by

	1)
	ASA

	2)
	SAS

	3)
	SSS

	4)
	HL



4
In the accompanying diagram of [image: image20.png]MABC



, [image: image21.png]


, [image: image22.png]=



, and [image: image23.png]Q|



.

[image: image24.png]



Triangle EBC can be proved congruent to triangle DCB by

	1)
	[image: image25.png]




	2)
	[image: image26.png]ASHA = ASA





	3)
	[image: image27.png]SSS = SSS





	4)
	[image: image28.png]HL







5
In the accompanying diagram, [image: image29.png]HE



 bisects [image: image30.png]73



 and [image: image31.png]LH=ZLK



. 

[image: image32.png]



What is the most direct method of proof that could be used to prove [image: image33.png]AHIT= AKLT



?

	1)
	[image: image34.png]HL





	2)
	[image: image35.png]




	3)
	[image: image36.png]AAS = AAS





	4)
	[image: image37.png]ASHA = ASA







6
In the accompanying diagram, [image: image38.png]CALAB



, [image: image39.png]EDIDF



, [image: image40.png]ED || AB



, [image: image41.png]


, [image: image42.png]


, and [image: image43.png]ms AR = mZFDE = 90



.

[image: image44.png]



Which statement would not be used to prove [image: image45.png]MABC = ADEF



?

	1)
	[image: image46.png]SSS = SSS





	2)
	[image: image47.png]




	3)
	[image: image48.png]AAS = AAS





	4)
	[image: image49.png]HL







7
In the accompanying diagram of parallelogram ABCD, [image: image50.png]DE = BF



.

[image: image51.png]



Triangle EGC can be proved congruent to triangle FGA by

	1)
	[image: image52.png]HL





	2)
	[image: image53.png]




	3)
	[image: image54.png]AAS = AAS





	4)
	[image: image55.png]






8
Parallelogram ABCD with diagonal [image: image56.png]DE



 is drawn below.  Line segment EF is drawn such that it bisects [image: image57.png]DE



 at M.

[image: image58.png]



Which triangle congruence method would prove that [image: image59.png]AEMB ~ AFMD



?

	1)
	ASA, only

	2)
	AAS, only

	3)
	both ASA and AAS

	4)
	neither ASA nor AAS



9
In the diagram of quadrilateral ABCD, [image: image60.png]AB| CD



, [image: image61.png]ZABC = £ DA



, and diagonal [image: image62.png]AC



 is drawn.

[image: image63.png]



Which method can be used to prove [image: image64.png]MABC



 is congruent to [image: image65.png]MACDA



?

	1)
	AAS

	2)
	SSA

	3)
	SAS

	4)
	SSS
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In the accompanying diagram of triangles BAT and FLU, [image: image66.png]


 and [image: image67.png]BA = FI,



.

[image: image68.png]



Which statement is needed to prove [image: image69.png]ABAT :

FLU



?

	1)
	[image: image70.png]2L





	2)
	[image: image71.png]




	3)
	[image: image72.png]




	4)
	[image: image73.png]BA || FL







11
In the diagram below of [image: image74.png]MNAGE



 and [image: image75.png]MNOLD



, [image: image76.png]ZGAR

LoD



, and [image: image77.png]


.

[image: image78.png]



To prove that  [image: image79.png]MNAGE



 and [image: image80.png]MNOLD



 are congruent by SAS, what other information is needed?

	1)
	[image: image81.png]




	2)
	[image: image82.png]




	3)
	[image: image83.png]ZAGE

OLD





	4)
	[image: image84.png]ARG

ODI,
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Given:  [image: image85.png]MNABRE



 and [image: image86.png]ACBD



 shown in the diagram below with [image: image87.png]



[image: image88.png]



Which statement is needed to prove [image: image89.png]MABE

OBD



 using only [image: image90.png]


?

	1)
	[image: image91.png]ydoin):3

‘ARE





	2)
	[image: image92.png]ZAFD

BERC





	3)
	[image: image93.png]




	4)
	[image: image94.png]
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Given:
[image: image95.png]AR



 bisects [image: image96.png]BD



 at C


[image: image97.png]AB



 and [image: image98.png]DE



 are drawn


[image: image99.png]LABC = LEDC




[image: image100.png]



Which statement is needed to prove [image: image101.png]MNABC = AEDC



 using ASA?

	1)
	[image: image102.png]ZABC



 and [image: image103.png]L EDC



 are right angles.

	2)
	[image: image104.png]BD



 bisects [image: image105.png]AR



 at C.

	3)
	[image: image106.png]S BCA = ZDCE





	4)
	[image: image107.png]LDEC

'BAC
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In the diagram below, [image: image108.png]AES



, [image: image109.png]NEC



, [image: image110.png]


, and [image: image111.png]50



 are drawn such that [image: image112.png]


.

[image: image113.png]



Which additional statement is sufficient to prove [image: image114.png]


 by AAS?

	1)
	[image: image115.png]A5



 and [image: image116.png]NC



 bisect each other.

	2)
	K is the midpoint of [image: image117.png]NC



.

	3)
	[image: image118.png]ASLCN





	4)
	[image: image119.png]AN || 5C
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In the diagram below, [image: image120.png]AC



 and [image: image121.png]BD



 intersect at E.

[image: image122.png]D




Which information is always sufficient to prove [image: image123.png]MABE

ODE



?

	1)
	[image: image124.png]AB| CD





	2)
	[image: image125.png]


 and [image: image126.png]




	3)
	E is the midpoint of [image: image127.png]AC



.

	4)
	[image: image128.png]BD



 and [image: image129.png]AC



 bisect each other.
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In the diagram of triangles ABD and CBE below, sides [image: image130.png]AD



 and [image: image131.png]CE



 intersect at F, and [image: image132.png]ZADB

BB



.

[image: image133.png]



Which statement can not be proven?

	1)
	[image: image134.png]AADB = ACEB





	2)
	[image: image135.png]LRAR = £ DCF





	3)
	[image: image136.png]AADB ~ ACEB





	4)
	[image: image137.png]ANEAF ~ ADCF
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In parallelogram ABCD shown below, diagonals [image: image138.png]AC



 and [image: image139.png]BD



 intersect at E.

[image: image140.png]



Which statement must be true?

	1)
	[image: image141.png]




	2)
	[image: image142.png]ZABD

OBD





	3)
	[image: image143.png]MNARD = ANCEB





	4)
	[image: image144.png]ABCE
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Kelly is completing a proof based on the figure below.

[image: image145.png]



She was given that [image: image146.png]LREDF



, and has already proven [image: image147.png]


.  Which pair of corresponding parts and triangle congruency method would not prove [image: image148.png]MABC = ADEF



?

	1)
	[image: image149.png]


 and SAS

	2)
	[image: image150.png]


 and SAS

	3)
	[image: image151.png]


 and AAS

	4)
	[image: image152.png]L OBA = LFED



 and ASA
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In the diagram below, four pairs of triangles are shown.  Congruent corresponding parts are labeled in each pair.

[image: image153.png]



Using only the information given in the diagrams, which pair of triangles can not be proven congruent?

	1)
	A

	2)
	B

	3)
	C

	4)
	D
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Two right triangles must be congruent if

	1)
	an acute angle in each triangle is congruent

	2)
	the lengths of the hypotenuses are equal

	3)
	the corresponding legs are congruent

	4)
	the areas are equal
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Which condition does not prove that two triangles are congruent?

	1)
	[image: image154.png]SSS = SSS





	2)
	[image: image155.png]




	3)
	[image: image156.png]




	4)
	[image: image157.png]ASHA = ASA
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The diagonal [image: image158.png]AC



 is drawn in parallelogram ABCD.  Which method can not be used to prove that [image: image159.png]MABC = ACDA



?

	1)
	SSS

	2)
	SAS

	3)
	SSA

	4)
	ASA
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Which statements could be used to prove that [image: image160.png]MABC



 and [image: image161.png]


 are congruent?

	1)
	[image: image162.png]and ZA= 24"





	2)
	[image: image163.png]4, and £






	3)
	[image: image164.png]




	4)
	[image: image165.png]LA AC = A'C’, and BC = B'C”
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In [image: image166.png]ABAT



 and [image: image167.png]MNCORE



, [image: image168.png]


 and [image: image169.png]BA = CR



.  Write one additional statement that could be used to prove that the two triangles are congruent.  State the method that would be used to prove that the triangles are congruent.
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In [image: image170.png]MABC



, [image: image171.png]


, [image: image172.png]12



, and [image: image173.png]


.  In [image: image174.png]MNDER



, [image: image175.png]age



, [image: image176.png]12



, and [image: image177.png]


.  Brett claims [image: image178.png]MABC = ADEF



 and [image: image179.png]MNABC ~ ADEF



.  Is Brett correct?  Explain why.


1
ANS:
3

[image: image180.png]VaNbe




REF:
060902ge

2
ANS:
4

[image: image181.png]



REF:
081114ge

3
ANS:
1

[image: image182.png]



REF:
081210ge

4
ANS:
1

Since [image: image183.png]


 [image: image184.png]


 is an isosceles triangle and [image: image185.png]


  [image: image186.png]


.
REF:
060204b

5
ANS:
3

Because [image: image187.png]


 bisects [image: image188.png]


, [image: image189.png]


  [image: image190.png]


 and [image: image191.png]LKL



 are congruent vertical angles.  Since [image: image192.png]


 is given, [image: image193.png]AAS = AAS



.  [image: image194.png]



REF:
060420b

6
ANS:
1

Since [image: image195.png]ED| 4



 and [image: image196.png]CEBF



 is a transversal, [image: image197.png]


 and [image: image198.png]


 are alternate interior angles and congruent.  [image: image199.png]SSS = SSS



 can not be used because no statement is made that [image: image200.png]


 and [image: image201.png]


 are congruent.  [image: image202.png]



REF:
060320b

7
ANS:
3

[image: image203.png]LAGE



 and [image: image204.png]


 are congruent vertical angles.  Because ABCD is a parallelogram, [image: image205.png]AB=CD



 and since [image: image206.png]


 [image: image207.png]AF =CE



 Because ABCD is a parallelogram, [image: image208.png]4E|c



  and since [image: image209.png]AGC



 is a transversal, [image: image210.png]LCAB



 and [image: image211.png]ZACD



 are alternate interior angles and congruent.  [image: image212.png]


.  This problem can also be solved using elimination.  Since they are not right triangles, HL does not apply, AAA only proves similarity and SSA does not prove congruence.
REF:
080310b

8
ANS:
3

[image: image213.png]



REF:
082217geo

9
ANS:
1
REF:
011122ge

10
ANS:
1
REF:
080907b

11
ANS:
2

[image: image214.png]



REF:
081007ge

12
ANS:
3
REF:
081622geo

13
ANS:
3
REF:
011627ge

14
ANS:
4
REF:
081810geo

15
ANS:
4

[image: image215.png]



REF:
061908geo

16
ANS:
1

[image: image216.png]



REF:
012423geo

17
ANS:
3

[image: image217.png]


.  Opposite sides of a parallelogram are congruent and the diagonals of a parallelogram bisect each other.
REF:
061222ge

18
ANS:
2
REF:
061709geo

19
ANS:
1
REF:
011412ge

20
ANS:
3

1) only proves AA;  2) need congruent legs for HL;  3) SAS;  4) only proves product of altitude and base is equal
REF:
061607geo

21
ANS:
2
REF:
080401b

22
ANS:
3
REF:
080913ge

23
ANS:
2

(2) is AAS, which proves congruency. (1) and (4) are SSA and (3) is AAA.
REF:
010306b

24
ANS:


[image: image218.png]


 and ASA, or [image: image219.png]


 and AAS, or [image: image220.png]


 and SAS
REF:
011022b

25
ANS:


Yes.  [image: image221.png]MABC



 and [image: image222.png]MNDER



 are both 5-12-13 triangles and therefore congruent by SSS.  All congruent triangles are similar.
REF:
012329geo

